S Y L 4 ,-lf- = 1 = -a’ = b =1
RE'E@C o8 ﬁ = a ((1 ) = Q-Q /J
- 64 Tur ungerode Funldan 2T = R gut /\/

h Qﬁ@, dunn Lac x =o£81l& J / . l e
P(0) =9 (-0) ﬁi“”"d’l_:fz(od = 2L =0 =)0 //
@: Sel p 82@(9% 8 urgﬂrodud = \Fg (Y UTK(Q&L s L
($9)%) = £(g(x) = O (~g) = - (B9

(6400 gupede -9

Sm(m§} ~

»3) N > Cosw
| s 5 : |
k/ sm(w)wus(%]ﬂ‘—z

9 ton(20) =tfon (207 + T) = fan(T) = SN(Y)

o (os(%)

:;_) --.:T,ﬁ.JimQ MY, SCUACLADS
o)
%

SINA >0

S‘n(\(fﬁ} = - Slnx

/. _/
e SRS
. T T o -
Bp .63 ascsin ((sn [Sq ) = T—; “‘ v
Qrcain (SN ( qw)\ = aresn(dnET)y =-T (7

T) - cosi- g E - T _ T
QML . COS(I}H’;%) = COST- oy — SINT- YN = ~ s (1) ‘U/'T—‘
X oy == =0 z
203 SIN(3) = Sin (& x) = SN(@@sx + siNx ©3(2)
~E Q Sivcosy: cosxe + smx [ cosk - sink)
= Janvasd + SiNvsy —snd = 3INE@SK —Sny



;Q*i:)_'- ?
,@m E(K\ C(P%)
QG@# P KDy o
I
B £ Lo) =R, )= 1 =
b 4= "
Allgman:Tax gess xoe [o=) g
Jlum(" =% , G.IS@B\'PW[Q@) @-@\3
Q_Heamk\cﬁi,ﬂ& ﬂxm H(x) exashart ndnt. '
nsbm\cﬂwc SR M%2>0 Moy g : 5

P@r £:12—)ﬁ2, ap()(\“—‘{ ,X 20 ‘L#_\
N, x=0 — 1

ﬁmfim 9 #N= f,(o) Doler i

N %=0 hlclq&- S}Qﬂlg I
cn (O~
Qu #.2 {?‘ﬁl-‘aﬁz X 1= % y . Purlde
St %R bd\% ann sl (%(.iu.:\(um%
&hm M %) (xc,+h\ ~,<0 ol e RECHY
N6 e 5
PR th

)éw hilird Qo hh? g
-, At &“; 2 o g ) HBHLSE i Slorin iy

=%, = L'6)

cexcde
Texy = OX +b

—— {
Pla)¥ + Pl %)
= ) Kl




